1290 Super Duke R, orange 2020 <2020><US><F9975T9>
LIGHTING SYSTEM

Pos Part Number Description Additional Text Quantity
1 61714501000 LED headlight SAE 1.00
2 61714525000 Turn signal USA front left 2.00
3 61714526000 Turn signal USA front right 2.00
4 61714035000 Turn signal bracket front 1.00
5 61714001030 Fixation-Set Headlight SD-R 2 1.00
7 0433100003 Washer DIN0433-M10 front flasher 2.00
8 0797100003 LOCK WASHER DIN6797-J10,5 ZI 2.00
9 61014030000 FLASHER NUT M10X1,25 WS=12 2.00
10 61614020010 EJOT PT SCHRAUBE 50X54 1.00
1" 61614020100 Ballhead holder 1.00
12 61614018100 EJOT ALTRACS 50X12 2.00

53799



13 61714001041C1 Fixing sheet headlight bottom 1.00
14 61614013050 Rubber bushing 2.00
15 0900000601900 Special screw M6x19 2.00
16 0025060106 HH collar screw M6x10 TX30 2.00
17 69008021160 special screw M5x12 7.00
18 61111018100 Temperatur sensor 1.00
19 61614019100 Screwshaft 1.00
20 60314047000 license plate lighting 1.00
21 0081050121 EJOT PT screw K50x12 only for US and SixDays 4.00
22 58412080000 REFLECTOR RED EU+AUS 1.00
23 60408061050 RUBBER 14X6.5X2.3MM 2.00
24 0024060106 HH COLLAR SCREW M6X10 TX30 4.00
25 62512081100 BRACKET SIDE REFLECTOR ONLY USA 1.00
26 16512180100 SIDE REFLECTOR RED REAR ONLY FOR USA 2.00
27 61714540000 Tail light SAE 1.00
28 0522040003 WASHER DIN522 A2K 4.3X20X1.25 4.00
29 61714040050 Absorbing element tail light 4.00
30 61708015030 Bracket, license plate lightin 1.00
31 61412032010 Bush 13X7X3.3 2.00
32 0081040121 EJOT Delta PT K40x12 2.00




